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• Please check that this question paper contains 14 printed pages.

• Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

• Please check that this question paper contains 32 questions.
• Please write down the serial number of the question before attempting it.

Accountancy 
Class: XII Time allowed : 3 hrs. 

Date : I 1-12-2019 Max marks : 80 

General Instructions: 

1. This question paper contains two parts A and B
2. All parts of the question should be attempted at one place.

PART-A 

(Accounting for Not-for-Profit Organization, Partnership Firm and Company 

Accounts) 

1. A, B and C are partners in a firm sharing profits and losses in the ratio of 2: 2:1.

31 stMarch, 2018, C died. Accounts are closed on 31 stDecember every year. The

sales for the year 2017 was {6,00,000 and the profit were {60,000. The sales for

the period from Jan 1, 2018 to 31st March, 2018 were {2,00,000. The share of the

deceased partner in the current year's profits on the basis of sales is:

(a) { 20,000

(c) { 3,000

(b) { 8,000

(d) { 4,000 (1) 

2. A and B are partners in a firm. They are entitled to interest on their capitals but the

net profit was not sufficient for the interest, then the net profit will be distributed

among the partners in: (1)

(a) Agreed Ratio

(c) Capital Ratio

(b) Profit Sharing Ratio

(d) Equally.

3. Anu, Bina and Charan are partners. He firm had given a loan of {20,000 to Bina.

On the event of Dissolution, the loan will be settled by: (1)
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